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Social Security + Health 

Insurance (1)

source: author



SSI + Health Insurance (2)

• Public health insurance→ health care 

payments

• Sickness insurance→ sickness 

contributions, maternity contributions

• Pension insurance→ old age pensions, 

disability pensions, widow´s pensions, 

widower´s pensions

• State employment policy→ unemployment 

benefits, active policy of employment



Participation in the Systems

• Public health insurance ➔ residency in the CZ

• Social security insurance ➔ taxable income

• Taxable incomes are:
• Incomes from employment

• Incomes from self-employment

• Non-taxable incomes:
• Capital incomes

• Rental incomes

• Other incomes



Subjects of Insurance 

Systems

source: author



PIT x SSC (terminology)

• Assessment base = tax base

• Insurance rate = tax rate

• Assessment period = tax period

• Minimum assessment base = the minimum 

base

• Maximum assessment base = the maximum 

base



Assessment Period

• Calendar month:

– Employees

– Persons without taxable incomes

– Others

• Calendar year:

– Self-employed persons



Insurance Rates

PHI SI PI SEPC

Employee 4.5 % - 6.5 % -

Employer 9 % 2.3 % 21.5 % 1.2 %

Self-

employed
13.5 % 2.3 %* 28 % 1.2 %

PWTI 13.5 % - - -

Others 13.5 % - - -

2.3 %* - voluntary for self-employed 
source: author



Important Parameters 2019

Average wage (set by the Ministry of labour and social

affairs)

32,699 CZK

Rate for real assessment base (self-employed) 50 %

Minimal wage (employees) 13,350 CZK

• Average wage is important for calculation of the assesment base of 

self-employed persons.

• Minimal wage is parameter used for employees´assesment base.

source: author



Employees´ Types of Incomes

Type of income PHI SSI

Employment contract Yes Yes

Contract for work (up to 10 000 CZK) No No

Contract for work activity (up to 2,999 CZK) No No

Other incomes (members of legal entities, 

shareholders in LLC, limited partner of LLC, 

etc.)

Yes Yes

source: author



Minimum and Maximum 

Assessment Base (Employees)

source: author



Minimal assessment base is not set for 

these persons:

source: author



Self-employed persons (1) 

source: author



Self-employed persons (2)

• Full-time activity = person has incomes from self-
employment acitivity only

• Part-time activity = parallel incomes from employment and
self-employment activity, parallel participation as a a self-
employed person and state insurance payer (students of
HEIs´up to 26 years, pensioners, etc.)

• Assessment base of self-employed is 50 % of the partial
tax base from self-employment (difference between
incomes and expenses = real partial tax base)

• Average wage 2019: CZK 32,699 

• Minimum AS PHI = 0.5 * AW (2019) * months a year

• Minimum AS SSI = 0.5 * 0.5 * AW (2019) * months a year



Minimum and Maximum Assessment 

Base of Self-employed

Minimum assessment base Maximum assessment base

Monthly Annually Monthly Annually

PHI CZK 16,349.50 CZK 196,194 -

SSI (full-time) CZK 8,175 CZK 98,100 - CZK 1,569,552

SSI (part-time) CZK 3,270 CZK 39,240 - CZK 1,569,552

source: author



Minimal assessment base is not set for 

these persons:

source: author



Persons without taxable

incomes

• Persons without any other incomes (from 

employment, self-employment activity) and 

they are not considered as a state insurance 

payers

• Assessment base: CZK 13,350 (minimum 

wage)

• Insurance rate: 13.5 %

• Insurance: CZK 1,803



Others (persons covered by 

state insurance)

• Insurance is covered by the state (CZ)

• Approximately 5.3 million persons in the Czech 
Republic

• Types of persons coverd by stata insurance:

• Children under 18 years

• Pension beneficiaries

• Unemployed persons registered by official
Labour office

• Sickness insurance beneficiaries



Examples



Example 1 (Employee)

• Gross wage (labour contract): CZK 14,000 

• The employee has got no other incomes 

during this month.

• Task:

– Calculate the PIT (use the basic tax credit)

– Calculate the social insurance

– Calculate the public health insurance 

– Calculate the net wage



Example 1 (Results)
• PIT base: 14,000 x 1.34 = CZK 18,760 = rounded 

18,800 x 0.15 = 2,820 – 2,070 = CZK 750

• Social insurance paid by employee: 6.5 % CZK 910

• Social insurance paid by employer: 25 % CZK 3,500

• PHI paid by employee: 4.5 % CZK 630

• PHI paid by employer: 9 % CZK 1,260

• Net wage: 14,000 – 750 – 910 – 630 = CZK 11,710



Example 2 (Employee)

• Gross wage (contract for work): CZK 10,000

• Task:

– Calculate the PIT (use the basic tax credit)

– Calculate the social insurance

– Calculate the public health insurance

– Calculate the net wage



Example 2 (Results)

• PIT: 10,000 x 0.15 = CZK 1,500 – CZK 2,070 

= 0

• Social insurance: CZK 0

• PHI: CZK 0

• Net wage = CZK 10,000



Example 3 (Employee)

• Gross wage (contract for work): CZK 14,000

• Task:

– Calculate the PIT (use the basic tax credit)

– Calculate the social insurance

– Calculate the public health insurance

– Calculate the net wage



Example 3 (Results)

• PIT base: 14,000 x 1.34 = CZK 18,760 = rounded 

18,800 x 0.15 = 2,820 – 2,070 = CZK 750

• Social insurance paid by employee: 6.5 % CZK 910

• Social insurance paid by employer: 25 % CZK 3,500

• PHI paid by employee: 4.5 % CZK 630

• PHI paid by employer: 9 % CZK 1,260

• Net wage: 14,000 – 750 – 910 – 630 = CZK 11,710



Example 4 (Self-employed)

• Tax base from self-employed activity: CZK 

500,000

• Task:

– Calculate the real assessment base 

– Calculate the social insurance

– Calculate the public health insurance

– Calculate the PIT (use the basic tax credit)



Example 4 (Results)

• Real AB: CZK 500,000 x 0.5 = CZK 250,000

• Social insurance 29.2 %: CZK 73,000

• PHI 13.5 %: CZK 33,750

• PIT: CZK 500,000 x 0.15 = CZK 75,000 –

CZK 24,840 (tax credit) = CZK 50,160



Example 5 (Self-employed)

• Tax base from self-employed activity: CZK 

100,000

– Task:

• Calculate the real assessment base

• Calculate the minimum AB for social insurance

• Calculate the minimum AB for public health 

insurance

• Calculate the social insurance and the public 

health insurance

• Calculate the PIT (use the basic tax credit)



Example 5 (Results)

• Real AB: CZK 100,000 x 0.5 = CZK 50,000

• Minimum AB social insurance: CZK 98,100

• Minimum AB PHI: CZK 196,194

• Social insurance 29.2 %: CZK 28,646

• PHI 13.5 %: CZK 26,487

• PIT: CZK 100,000 x 0.15 = CZK 15,000 –

CZK 24,840 (tax credit) = CZK 0



International Comparison



Austria

source: author



Belgium

source: author



Estonia
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Finland
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Greece
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Ireland (Employees´+ 

Employers´Contributions)

source: author



Israel (Employees´+ 

Employers´Contributions

source: author



Latvia (Employees´+ 

Employeers´Contributions)

• Employees pay: 10.5 % of their earnings

source: author



Luxembourg

source: author



Slovak Republic

source: author



Slovenia (Employees´+ 

Employers´Contributions)

source: author



Sweden (Employees´+ 

Employers´Contributions)

source: author


